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I f(x) = 35— 5,0

Homework

+ 2x ~ 1, what are the x-coordinates of all

points of inflection for the graph of f?
(A) -1 (B) 0
(D) 0and 1 (E) —1,0,and 1
60> 15% =20y g
£ (0= 6ox3-box
0= &( “
(0= 6 (x-1) = x=|

” B sign change
19, I f"(x) = (x — 1)(x + 2)%(x — 4)%, then the graph of f has inflec-

tion points when x =

odd fowtrs

(A) —2only (B) 1only

—2and 1 only (E) —2,1,

5. y= 5x* — 24x® + 24x® + 17 is concave down for

(A) x<O.

(C) x< —2orx > —%.

The position of the particle traveling along a straight line is
x(t)=1> -9 +15¢t+3. Onthe interval 7 =0to ¢ = 10, when is the

(C) 1and 4 only
and 4 only

2
y'2 A0x>-72x + ¥x
(B) x> 0. y''- 60xq-l4léx4 by

(D) x<-§—orx>2. \{“: p} (‘57("“_,2?(“_ q‘)
Y= 12(5x *2) (x~2)
o 2
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